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������	
���ก��	������������������������� !�"ก����#���$�#%���!���&&�'�� �$��(����
�������� ���� �% �(� �����"��������(��)� '�	�	#��* ������	
���ก��	��(ก�'�"���#����  
2 �#�� �,� ���������	
 AC (60/70) ��(����� ���� 5��� 3/4, 

1/2, 
3/8 ��(%��:�;� <��!�"��� 

�"������	���#��!�ก����(���� ,���=� ��� ก��&(���>�$5���%����?#�#������%�@�� $����&(
�=�A������''%�#�%�,�< � %���&�ก����&(����>�$����5���5B�  ���� �5B���� ��(�� ��C
��'��=�%��กA�" 

 
1.1 ��
������	������	��
��	���	��� 

!���&&�'��<��������	ก�(��A��D�5����ก���$�� &=���� �ก5@��<��!�"C#��%������
��,���$���E@��&(�=�!%"�%�,�ก�ก��,���$�������&=���� �ก��#�ก�� � "&( ��?"����=�ก�ก��,���$����%�#����
 ��=�ก����&�� �ก ���	#กB���A # �!���=� �$�F��!�"��#��&���&�� ��(!��>��(��&&�'����������!�"
�=�%��'ก#���"���������#��5"�����&(%�A�"��ก �ก5@��!�$,�����!ก�"�����ก��ก#���"�� �������
�'��( �)&(�$�� 5@��&�กก��5��#���������!�"�(�(���Aก�&@���B��%B����	"��!�"�������������
�� ��C%�A�"!��"��C����=� ���(��ก	
!�" A�" ��?"�=�ก����&���=��C"�%��ก ������#���� !�"�� !�
������	
���ก��	��(��G��?#'"��(J.S. Chen et al., 2008) 

�������!������&�����  &@��=��C"�%��ก��������#��%�@��5��ก�ก��,���$�������%�,�&�กก�����	
ก�(��A��D� �!�"!�������  ��,���&�ก����������%�,�!�"��(��&����ก��!�"���$��ก��%�,�!�"
��#����" �#�  <���=��C"�%��ก ���������� ���� !�����������������	
���ก��	  �$,��!%"A�"�������
������ ���� �� ��C!�ก����'��=�%��ก	�  �	�Q��5��ก� ���%���  E@��	"���=�ก������'
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��)� '�	��"��ก����'ก=����  �$,��!%"A�"�#���� 5������������&�ก������%�,�!�"��� ���(���R�>�$
��(�� ��C�=�A�!�"A�"&���!������� 
 
1.2 �������
����� �!���ก	� 

�$,��G@กS���(%�������!�ก��!�"��(<���
&�ก�C"�%��ก!�ก�������� ���� �(�����
�=�%��'ก�����	�#���� ����������������	
���ก��	 

 
1.3 � ����ก	���$�% 
1.3.1 $�F������������������	
���ก��	 <��!�"�C"�%��ก��������� ���� �(����� ���A�"&�กก��
�� �C"�%��ก��( ���� �(�����(%��:�;�)!���	���#�� 0:100, 10:90, 20:80, 30:70, 40:60, 
70:30 ��(100:0  
1.3.2 !�"��� �)���������	
 AC (60/70) 5%, 6%, 7%, 8%, 9% ��(10% 
1.3.3 ������(%
��ก�������<��ก������'��� %����#� ��� ��C���>�$ ��(ก��A%�5��
������	
���ก��	���A�"&�กก���� !��	#�(��	���#�� 

 
1.4 '�����	(�)	$
*(+��� 
1.4.1 A�"��� �)5���C"�%��ก  ���� �(����� ��(��� �)5�����������	
 AC (60/70) ���!�"!�
ก���� ������	
���ก��	 !���	���#������% �(� ������!%" ���� ��C���>�$ ��� %����#� �#�
�"���(5���#���#����ก�G �#��"���(5���#���#���(%�#�����>��5�� ����  �#�ก��A%� ��(�#�
�"���(5���#���#������������"����� AC (60/70)   
1.4.2 �� ��C�=���5"� ?����A�"A�!�"!�ก��$�F����)� '�	�5��������	
���ก��	 ��� ��#���� 
�C"�%��ก��������� ���� �(�����	#�A� 
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1.5 �'�ก	�(�	�����	��� (!���ก	� 

 
1.6 �	%�
� �%(����
�	.� �!���ก	� 

-  �#�������=���ก���   500  '�� 
 -  �#�C#����ก���   500  '�� 
 -  �#��"������?�    1000  '�� 
 -  �#�������� $���	��
   1000  '�� 
    �� �#�!�"&#����������               3,000 '��  (  �� $��'��C"��  ) 
/�	%�/��  �#�!�"&#��C���Y������ก���ก�� 
 

��,�� 
ก�&ก��  

	.�.2551 $.�.2551 R.�.2551  .�.2552 ก.$.2552  �.�.2552 

1 2 3 4 1 2 3 4 1 2 3 4 1 2 3 4 1 2 3 4 1 2 3 4 

1.ก���=�����<������                         

2 . 	 � � &�? �C � � ��� �= �
<������ 

                         

3 . 	� � 	# � 5" �  ? � & � ก
�=���ก�������ก����5"�� 

                        

4.�� � � � � ( %
 �� Z % � ���   
�ก��5@�� 

                        

5.�5���<���ก�� 
 

                        


